STEVES AND SONS W,
203 Humble Ave. &z 8
- San Antonio, TX 78225 0 —— r.Y % e
= = =2 o
X X &8sy L 2n
° ° ° o X ° ."6 3238 g >
STEVES : : IE : ; 95 2 838
N 4 D0 o
[ XS 2 Kz
= W 2 do
ES O B
e 5 B o x2 9
®Em ZBo¥F
) ] [0)] el (] w
£ 69 Zg6a
2 PANEL 2 PANEL OXFORD 2 PANEL ARCH TOP 6 PANEL 8 PANEL m gl 2 Bzl
w/ SPEAKEASY  PLANK CAVALIER SIE v s §
w/ SPEAKEASY N
OPAQUE FIBERGLASS DOOR d il @
DOUBLE REGENCY PANEL COLLECTION T m
%3]
25| oz
=g -
INSWING/OUTSWING 58| 2E
" ' 74" MAX. OVERALL SB[y EY
NON-IMPACT FRAME WIDTH 233 S«
28 1E Y
n=10 Ly
g =
P el SR
1 E e ol &
) 3 "
e T £ S
<3 <2 -
O g& X X =
GENERAL NOTES X xQ
28 - o
This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building “_’ = o (,_,—3 °
Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHZ). @ <§( =] -
ol = %]
[T Z
2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base é %
material shall be beyond wall dressing or stucco. ‘ >
o
3. When used in areas requiring wind borne debris protection this product is required to be protected ﬁ
with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC.
4. For 2xstud framing construction, anchoring of these units shall be the same as that shown for 2x
buck masonry construction. L
<
()
5. Site conditions that deviate from the details of this drawing require further engineering analysis by |
a licensed engineer or registered architect. | DESIGN PRESSURE (PSF) e
TABLE OF CONTENTS . = baTE: 3/10/22
SHEET # | DESCRIPTION SHEET # — SCAE:  N.T.S.
1 Typical Elevations, Design Pressures & General Notes 6 Horizontal & Vertical Cross Sections (1X Buck) DWG. BY: RW
2 |Door Panel Details 7 | Horizontal & Vertical Cross Sections (Direct fo Masonry) 74.0" x 81.5" cHk. BY:  LFS
3 Door Panel Options 8 Vertical Cross Sections YES +40.0 -45.0 DRAWING NO.: :
4 Elevations 9 Buck & Frame Anchoring & Hardware Details FL 1"4 6
5 Horizontal & Vertical Cross Sections (2X Buck) 10 Bill of Materials & Components —4 7.4

SHEET _1_ oF 10

Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.4.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvais\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.4.dwg

S Iy
0.5" “'[ ~— EXTERIOR
? B ;4 b,
W 5
R ERIC I §
— : . R .4
‘ . bg:‘ - ‘..b‘ 'B
/ \ INTERIOR
COMPOSITE ~ HINGE STILE —
CAP (LVL)

/"1 "\ HORIZONTAL CROSS SECTION

\2/

10" X 12" IRON

SPEAKEASY FRAME w/
5-3/16"X7-3/8"D.L.O.

35.75" MAX.DOOR ___
WIDTH

P

79 MAX. DOOR HEIGHT

@ FIBERGLASS DOOR PANEL

N

FIBERGLASS SKIN: 0.08" MIN. THK.
FOAM CORE: POLYURETHANE - 1.9 PCF MIN.)

40.5"

—-—‘ l—— 5.5"

SEE HARDWARE TABLE

A\

{IRON SPEAKEASY FRAME

| ] .2" 2.4u
—=] r~— 0.5"
ES3N Al B
et \
/ COMPOSITE
LOCK BLOCK LATCH STILE
19.5" LONG {LvL)
(LVL)
1/4" SEX BOLT
(8 TOTAL)

NGP 25258

SELF ADHESIVE WEATHERSTRIP

G1 GLAZING DETAIL

SPEAKEASY (OPTIONAL)

LATCH: SIGNATURE SERIES
KWIKSET DEADBOLT:  SIGNATURE SERIES (980)

LATCH: F51
SCHLAGE DEADBOLT:  B4ON

LATCH: PREMIUM HANDLESET
ROCKWELL DEADBOLT:  PREMIUM DEADBOLT

CAP

GLAZING SILICONE

/3/ 16" TEMPERED GLASS

r———-——u"
I S
I
L C
0
SASH HINGE et 117

16 GA. IRON SPEAKEASY FRAME

COMPOSITE
CAP

TOPRAIL — |

(LVL)

v-."
FBERGLASSSKIN  |l'r - =% -
.. 0
e T
INTERIOR Sy EXTERIOR
//
/.
7’ v
FOAMCORE— [+ =~ " "
12 v 'E
BOTTOM RAIL &
REINFORCEMENT
(tvi) .
R
O
—
BOTTOM RAIL—[|-: ‘
(COMP) -

/"2°\ VERTICAL CROSS SECTION

\2/

I/,
0

wWithiyy,
.SCHM,
\JCENgg

June 7, 2022

P.0. Box 230, Valrico, FL 33585
813.659.9197

BUILDING CONSULTANTS,
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

FIBERGLASS DOOR
DOOR
PANEL DETAILS

STEVES & SONS
PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NO. DATE

oate: 3/10/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—41467.4

SHEET _2 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



CONL SANVLATINSNGD SNIQTING "My 2202 @

€186 "oN Ausibey Adgd SNOISIATY

LBLB'659°CLR 'ON 8auoyd F
GBGCE 14 ‘ODMIDA 'O£Z xog ‘O'd \Ev SNOUJO TINVd 4004 A8 4LvQ_LON nnu wi=z _.n._b: ” m_
o_ﬁ _mGzﬁ._:mzoo oNIgTiNg @u TEWISSY 90 Luvd R .35

(1)) 1y ~lZ o~

W 14, ¥00a SSv19y3gld IS I P O O e
e JKJ@\QQ\\\\ sovey oN “3d SNOS % SIAILS LB lElg | _
SO0y Ny 7, s s opud THAE R
NES "1onaoud HEIHEE 5

PREARNE NN
_.....‘..

" 3 . ! ~—
o . g
4 ~
\\\ -,- .-o /,
. . “u
\\\ ey gzmcjo.o.o) ///

\\\.\\Q\#IO&W N\

’ \
T

[ |

8 PANEL

[ 1 1

= =
=
= =
= =
= =
6 PANEL

ATLLTS

SPEAKEASY

PLANK CAVALIER

REGENCY PANEL COLLECTION

SPEAKEASY

2 PANEL OXFORD 2 PANEL ARCH TOP

2 PANEL

BMPY 29 Ly-14\0202) 297 Ly-T\SBUMEIE - I\STNIIS ADNIODTY L9¥Li-Td\s|eroiddy 10npoid epLO}S - YAIUBUBWIR - SUOS PUB SBASIS\SIUBID\Z



TON] SANYLINSNAOL aNaImg

MM 2202 O

AN
S

N

Lesoome,

.
.
.

%,
\\\\sss

€186 ‘ON Ansibey Idad
LBLB°6G9'CLB "ON suoyd

*ONI ‘SINVLINSNOO ONIaTng

SBSEE 4 ‘ODMIDA ‘0£Z Xog "O'd \Sv

17
//zﬂk@ J(ZO\.m.s\\\\ 60vSy "ON "3°d
%....an&o@....@ %, WPWYDS "4 UOPUA]

SNOISIATY

aivd [ON

SNOILYATT3 A8

RW
LFS

CATENISSY 0 Lavd

d00d Ssv1od38ld

SNOS % S3ALLS

1L0NAaoyd

DATE: 3/10,/22
scAE N.T.S.

DWG. BY:

O_
=
.
[+]

¥

FL-41467.4

SHEET

CHK. BY:
DRAWING NO.:

= TT0T ‘L Qung

M Py
oVEYON i I m

(Gt A &
° srom WI//////

SDSPSY

ELEVATION
XX

BMpY 2971 Y-14\0202) LovLE-T14\sBuImeid - D\SIIIS ADNIDTY L9¥Lp-Td\sieroiddy 1onpoid BpLOjS - Y\IUSUBULIB - SUOS PUB SIASIS\SIUSID\Z



/Y
4
Y

v

<

v
<
v
L <
v
N
T I VA S

sa Z a
, B 0.15" C-SINK e
. ~  (YP I
Taoet ~ o ot
4 ‘ ) \\\Q\\\\\\\\\\ g
A.A
5 . INTERIOR
‘ ?!ii/i!l/l/ll///il‘a’i/
- Ab 4
4 a SAAERVER RN © \\
s, jt EXTERIOR INTERIOR

/ 2"\ VERTICAL CROSS SECTION

LAl

ensoos S B 2
1-1/4" MIN.
EMB. (TYP.)
/ 1"\ HORIZONTAL CROSS SECTION
\SJ Shownw/2XBuck
Outswing shown {Inswing similar)
SEE NOTE 1 7

Sy

i

Note: /4 "\ HORIZONTAL CROSS SECTION
1. Screws located 8" from each end of astragal plus W Outswing shown {Inswing similar)
four (3) more located @ 23", 37" & 48" down from

the top of the astragal (5 screws total - countersink 3/16").

EXTERIOR 7"
7”3\ VERTICAL CROSS SECTION
Shown w/ 2X Buck

Inswing shown

INTERIOR

\eY
\\\\\ x

/i JCENSS

SRR N AN
r+ ~f

PrYY Y & 7,
. .. 7
-./0’/ 0
"6z 3
o. - [Ty]
3 &Y = .1
s Q;.—\._g"’
< * :<:—_J|\
: &= bomn
(=] Ql.o:m o e
< 'S OO
n.\\z O o B
- Q\ <':m
: P H58 g
MLTTPPYLey N 3> Mz
D\\\\ % -EE‘
(\\ ow
AN 2 SR.%
o, 0D
32 238%e
§ Ea FO0o
a £0 5oL ew
e O« =poon
s 7)) 2Mem
g ¢ MmDofn
=1 LN
~IE 57
ols © .
gl s«
=0 0
<
S
Om
Sl Ex
)
o
§Q S
.., KO
s9[x 2
318 28
)
§§§ =9
o
Mo N7
gy e T3]
O x 0(8
o Iu:
] =
ol |g °
& P
>.
m
172}
pd
Q
2
ol
o
L
<
o
o
zZ
DATE: 3/10/22
scaE: N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL—41467.4

SHEET _5 oF 10

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467 4.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



‘ONI SANVLINSNDOD SNIGTIING “M'd 2202

€186 'ON Ansibey IAdHd SNOISIAT

L616°659°CL8 "ON 8uoyd (1ong X1) SNOILOIS SSO¥O F
sesce s ‘oouion ‘o5z x08 0 flf] WOLYIA # WINOZROH A8 O sl le| X9
.,o_v_z....mkzﬁ.d:mzoo oNIaTINg g« XIENISSY H0 1uvd WW ElH.9 s
\ s / 7 ~ o ™
w iz 4000 SSY19434l4 N R
NN JKJ@@%S\ Borsy N 38 SNOS % S3AILS W EElg | _
SN0 YRy N 7, WPuURS 4 uopui i m sly|Z | B
I& . . 7 . : ¥ W &
~ . . A pelbdeiy sjuswnooq LoNaodd S atlo [
; TR 20T ‘L 2ung
¥ ¥ IxI g
3 60VEFON § =
- ™ s 3
Z G AN &
\\\ \\\ s:om /////
Hipppnw o
DE
oz
i
z
=z
Qo
o
O
[ X ]
(7
(7, ]
(7]
Sy
O €
I8
mw 7]
2lco
oc mﬂ..l
Wiz
S|52
o
o ™ ~0
il
&
[}
L a4 p
: o ('dAL) "aw3
; o O NIW ./ 1-1
: ® 2 B
=
* = =
. 2
| b
- a
e S Sc
L Ui23
. Z =5
) O|z2
K m £3
‘a : =
R >[50
. "y [2"4
- () 2 mw
i
("dAL) "aw3
NIW /1L
o
m_
o
i
z

ORNC

O

1-1/4" MIN.
EMB. (TYP.)

/“1 "\ HORIZONTAL CROSS SECTION
\U Shownw/1XBuck =
Outswing shown {Inswing similar)

v
<
RERRLRRTRRAAY
9
v
<
DA ER T
<
v
) A
Ne T

BMpt L9¥Lr-14\0202) 297 Ly-T4\sBuIMeIq - D\SIIYIS ADNIDIY L9vLy-T4\sjerciddy 1onpoid BPLO]S - Y\judueuwiad - SUOS pue SOABIS\SIUBIDNZ



TON| SLNVAINSNGD SNiguing

‘Md 2202 O

€186 'ON Ansibey 3dEd SNOISIATY
L6L66S9°CLB "ON @uoyd (AYNOSYA 0L 103¥I0) SNOILOIS 18 JIva TON <
Sess 15 “omen ‘05z 0a 03 [ ] S5O0 MO % AOZHOH Qlalzle] ~|°
‘ONI ‘SINVLINSNOD ONIgng @u CAIFNISSY MO Ldvd W, T. & . % &
covcs o 5000 SSv19¥3ald oL EE N
0, e lepan SNOS % S3IAILS ) m w B m g
' W A8 pelpdesd sjuewinoog -Lo0NA0dd M S M m %
z 70T °L dung
s
W\
=74
o
&5
.
o
me
2
|0
o=
Size
2|82
(B (a)
=ise
e
>G5 <
mw

('dAL) "gw3
NIW /-1

\>\

{"dAL) "awd

J

NIW w7/ 1-1

INTERIOR

Qutswing shown

EXTERIOR

7”2\ VERTICAL CROSS SECTION
\7/ Shown Direct to Masonry

INTERIOR

| ED EXTER.OR

1/

1-1/4" MIN.
EMB. (TYP.)

9
v
9
v
<
v
q ‘ 3
BRI W A
. <! -
Na -

/"1 \ HORIZONTAL CROSS SECTION

W Shown Direct to Masonry

Outswing shown ({Inswing similar)

EXTERIOR

BMPt29%L 1-14\0202) L9 Ly-T4\sBumelq - D\SIIYIS ADNIDIY L9vLy-Td\s|erciddy 1onpoid BPLOS - Y\IUBUBULIB] - SUOS pue SOARIS\SIUBIDNZ




"ON SINVYLOINSNDOD aNiaTing

‘MY 2202 QO

£186 ‘ON Ansibay 3484

EXTERIOR

A\

INTERIOR

/1" VERTICAL CROSS SECTION

w Inswing Threshold

('dAL) gw3
NIW b/ 1-1

L6L6°6S9'CLY "ON 8uoyd SNOILO3S SNOISIAZ F
GBGEC 4 ‘OSMIDA ‘0CZ xog O'd \Sg SS0¥0 TVOLLH3A Ad ALvd. LON S I I ” mw_
0.7_:. _vwkzﬁ,_amzoo sNIaINg g. K1aWassv d0 1avd SIEIESL Qs
1z 3 Y—
WA NYNG 2, 4000 SSY1943al] NEREEARE
o2 NS, 60YEY "ON ‘3'd SNOS % SIAILS ™ 1E|Ele |
DD ooy Sy, wruuss 4 uopuk] pldlg|cET |
S {10NA0xd HAEIEHEE &
(2 e z
% Co 2
. . -
oc J 3 - O
pa| N .- o}
. 9
/ 4 . Om
N SfE
} . '/ , U:.::t::w\k:\ B w m
i oot N
L7 1NN o Lo
4 S ﬁ.lb. =
X ‘”. [T .m M
~ o » | 7] o
E NN N} . >R
J] ) a .. :
m />
2 (®
m_ © (‘dAL) ‘g
W ‘NIW v/ 1-1
Ll

Bmp Y 1971 7-14\0202) L9vLy-14\sBumelq - D\S3143S ADNIDIY L97Li-1d\s|eroiddy 1onpold BpLOlS - V\JUBUBLLIA - SUOS pue Sana3S\sIualONZ



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467 .4.dwg

FRAME CORNERS ATTACHED w/ (3) 7/14"
CROWN X 1-1/2" LONG 16 GA. STAPLES & (2)

#7 X 1-5/8" DRYWALL SCREWS @ HEAD & SILL

4"
ey~ “ (TYP.)
Rkl iy [=—4" (TP 4 (1YP) — ' AT |
| o m
== 4 <& g =2 SEE HINGE
= — (1)axsuck — = O DETAL
o 1X BUCK B (TYP.)
2XBUCK | - FRAME | DIRECT TO e —| — >R
HEAD & JAMBS MASONRY | ASTRAGAL/SURFACE ,
\ (TYP.) HEAD & JAMBS BOLT STRIKE BOLT ER
1 _ (TYP.) DETAILS 1 T
R g = SEE LATCH
GE °E & DEADBOLT
el A — —| gE © DETAIL
1% DOOR SILT x g l
e GE N (TYP) _ B
RE T 9% Ll I ' 0
S LI o < b
2 S 33::,::\& =
/ HINGE JAMB COMPOSITE ASTRAGAL
7" STEEL FLIP LOCK FLUSHBOLT (5/16" @)
MASONRY @ EACH END OF ASTRAGAL
2X BUCK ANCHORING FRAME ANCHORING
DIRECTTO
MASONRY
a0 1X BUCK
DIRECTTO
DIRECT TO MASORRY Ce [ o 2 o
DIRECT 10 1X BUCK \ @é; 11, \@
1X BUCK 2X BUCK ASTRAGAL BOLT ) \
@ 2X BUCK / TOF <> ] @>® \
@ o) = HINGE DETAIL
i N LL 2 NS sS4 @<3 }k,@ INSWING
Lo} ' \ / i _fﬂ t 7 W\ DIRECTTO
NS / ™~ ~ T 1~ 7 W \}\ MASONRY
2X BUCK( J @ @siLL LATCH & DEADBOLT DETAIL 1X BUCK
@ 1X BUCK @HEAD N 2X BUCK
@SILL DIRECTTO o Al o
@ HEAD 31 2L MASONRY ®é" e \®
ASTRAGAL/SURFACE BOLT STRIKE PLATE DETAILS ASTRAGAL/SURFACE BOLT STRIKE PLATE DETAILS \
INSWING OUTSWING \
HINGE DETAIL
HARDWARE DETAILS OUTSWING

Iy
(2]
D
L0
oM
z
£ N
m.umv)
E gom
Z Oq 0
(x.m
g4 .
S3eg
g..'?
o
W §2®D
5N O - @
o, o ‘o
v 0 O XZ o
® & Zz 90T
t Eo F0o
2o 8B cw
6 =500
emn Do..cm
R S+ I N
11 E
Ng o
IE 52
Qi3 0 .
g]8 su
Slo 2n
)
=
x
x|l oS24
NS I3
s UE
U')Q %Q
%)
so1 lugbu
> %13 2
Lol B
G (3 ES
"EDU)Q;%
#U)E<XI
Q Sl &%
2 S
g |E"
& =
>
ie)
7]
=
O
4]
o
o
z
o
Ll
= |2
<15
o 3
R E
o 0
Z 1o
baE: 3/10/22 |2
scae:  N.T.S. 5
]
DWG. BY: RW @
cHk. B:  LFS 3
DRAWING NO.: 4
N
FL—41467.4 N
SHEET _9 ofF 10 (S




Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467 4.dwg

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

A 1XBUCK (G >=0.42) WOOD
B 2X BUCK (G >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -

D 1/4" X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,000 PSi MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F 1/4" X 3-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
G 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL
H 3/16" X 3-3/4" PFH ITW CONCRETE SCREW STEEL
J #10 X 3" PFH WOOD SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
M 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL
P 1/4" X 2-1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

1 COMPOSITE JAMB COMP
7 WEATHERSTRIP FOAM
8 SWEEP VINYL
9 4" X 4"HINGE STEEL
11 #9 X 3/4" PFH WOOD SCREW STEEL
12 LATCH STRIKE PLATE STEEL
13 DEADBOLT STRIKE PLATE STEEL
14 INSWING THRESHOLD ALUM/COMP
15 OUTSWING THRESHOLD ALUM/COMP
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
30 8" SURFACE BOLT {HAGER 275D) STEEL
31 SURFACE BOLT GUIDE PLATE STEEL
32 SURFACE BOLT STRIKE PLATE STEEL
33 #10 X 2-1/2" PFH WOOD SCREW STEEL
37 ASTRAGAL STRIKE PLATE STEEL
38 ASTRAGAL (COMPOSITE) COMP
39 #10 X 2" FH SMS STEEL
40 DOOR PANEL -

41 #7 X 1-5/8" DRYWALL SCREW STEEL
42 #8 X 2-1/2" FH SMS STEEL

1.25"
o
o

le— 213" —~

1 COMPOSITE JAMB
WORLDWIDE "4EVER"

1.44"

14

5.62"

INSWING THRESHOLD

Columbia

wood screws fo prevent the splitting of wood.

SHEET 10 oF 10

G
v
-‘_’01;,, 0
= 1.44" = A B
2 é:Z 1
gf 2= . Tom
Ti03L 55w
o Q : Z o o [¢]
O 5358
&\\\ o> mZ
Eq‘ \\\ 0 -
0 ? W\ (Z) S 0
o ) & OWN =B
5:3 3 o B o x2 o
= ~ ¢ ¢ Z@ %
" '6 [0} a) 3
0_6 a £0 . Y]
| £4y 5925
G Qs "% @odix oy
]l v
094" N |t 52 §
D cul
38 )-COMPOSITE ASTRAGAL 218 5¢ @
o-
05 n
gol =L
B &EZ
3 ni .. LI-L-IZ
N>l <o
nS|m 3%
2 44u W %2 E Ll_o
| : Ealp o8
| 3 L PR I
'._.
] i g S
& = =
™ o 14
. 7 H
| &
4.6" |
15 OUTSWING THRESHOLD
Columbia
v
=z
o
0
o
CONCRETE ANCHOR NOTES:
. Concrete anchor locations at the comers may be adjusted to maintain the min. .
edge distance to mortar joints. 2
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to o
maintain the min. edge distance to mortar joints, additional concrete anchors Lt 5
may be required o ensure the "MAX. ON CENTER" dimension are not exceeded. LE g
. Concrete anchor table: SINE
..... m
v gl |2
: 22 %}
SIZE AEN 1
5 3”6" e 1;1/ R oATE: 3/10/22 2
V& & scaE  N.T.S. g
]
DeWALT " DWG. B: RW il
uiRAcONG | VA 1-1/4 I 4 :
cHk. B::  LFS 2
WOOD SCREW INSTALLATION NOTES: DRAWING NO.: o
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL-41467.4 N
N
&



